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QUESTION 1

What are two ways Cisco helps customers navigate compliance issues? (Choose two.) 

A. Providing identity verification 

B. Securing email communications 

C. Ensuring all employees have access to all files 

D. Removing reporting requirements 

E. Removing bureaucratic security tags 

Correct Answer: AC 

 

QUESTION 2

Which are two reasons perimeter-based network security is no longer sufficient? (Choose two ) 

A. more vulnerabilities 

B. more IT professionals 

C. more networks 

D. more devices 

E. more users 

Correct Answer: AD 

 

QUESTION 3

Which two products empower customers to create secure next-gen networks? (Choose two.) 

A. AMP 

B. ISE 

C. ACI 

D. SD-Access 

E. MFA 

Correct Answer: BC 

 

QUESTION 4
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Which two benefits of streamlined management does Cisco provide? (Choose two.) 

A. Unified management across multiple services 

B. Siloed systems 

C. Consolidated security monitoring 

D. Centralized management 

E. Device access control 

Correct Answer: BE 

 

QUESTION 5

What are two key Cisco loT use cases? (Choose two.) 

A. Mobile Utilities 

B. Financial Institutions 

C. Parks and Recreation 

D. Industrial Security 

E. Connected Health 

Correct Answer: BE 
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